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Frafafea 3 (fi) st & forg A

frafafaa 2t ufedst #1 ufey it 33% 9 oM 9=
T % IR G| 39 gl F e aek I Fad
A uf=adl W& enurfa B =ifew)

giese—1

A4 fawm f wifd 990 @A * 9me ged |92 |@an
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2. TEeH! 6 diftg Iy

3. YAEEU H TER

i faw g g2 #: yEm W= wd W g
(@) Fa@ 1 3N 2

(b) FES 2

c) Fad 1 3R 3

(@ 1,233
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Twfea 2w, fawmefa 29t F gofm a9
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3. 3% A9 -IEE R 39Em ¥ w@edl H
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(@) =@ 1

(b) Fae 1 3R 2

() Faa 2 3R 3

(d 1,23R3

afedg—2
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1
The main threat to maintaining progress
in human development comes from the
unsustainability  of
production and consumption patterns. Current

increasingly evident
production models rely heavily on fossil fuels.
We now know that this is unsustainable
because the resources are finite. The close link
between economic growth and greenhouse gas
emissions needs to be severed for human
development to become truly sustainable. Some
developed countries have begun to alleviate the
worst effects by expanding recycli and
@) 'infra-
structure. But most developin @ntr‘ies are

availability
oped /Countries
need to support developi@:ountﬁea’ transition
to sustainable human development.

investing in public transport

hampered by the high costs
of clean energy sources.

1. Unsustainability in “production pattern
is due to which of'the following?

1. Heavy dependence on fossil fuels
2. Limited availability of resources
3. Expansion of recycling

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 2 only

(¢ 1 and 3 only

(d 1, 2 and 3

VGYH-D-CST/46A

2. Consider the following statements :

Developed countries can support
developing countries’ transition to
sustainable human development by

1. making clean energy sources
available at low cost
2. providing loans for improving

their public transport at nominal
interest rates

3. encouraging _them to
their production ‘and consumption
patterns

change

Which of the statements given above
is/are’correct?

{a) 1 only

(b) »1 and 2 only

¢/ 2 and 3 only

(d) 1,2 and 3

Passage—2
Unless the forces and tendencies which are
responsible for destroying the country’s
environment are checked in the near future
and afforestation of denuded areas is taken up
on a massive scale, the harshness of the
climatic conditions and soil erosion by wind
and water will increase to such an extent
that agriculture, which is the mainstay of our
people, will gradually become impossible. The
desert countries of the world and our own
desert areas in Rajasthan are a grim
reminder of the consequences of large-scale
deforestation. Pockets of desert-like landscape
are now appearing in other parts of the

[ P.T.O.
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R fEr 3 @ B vl B @ uw @ aReHs
wianedl ok €l &% WU /- T4 I FA A, T8
e, fad aul g = Sew, gEt e ik g@ 9,
iR gherelt @ e o few feard 39 €

3. 394 R8T % FFER, FHEH I =D
% FpadrTen efafad 3§ | F&0 gfom #07
1. a1 HEYA H G
2. M e & fog sofm A Fh
3. % fou 5@ i w45

= fu MY F2 F WE W wE W gAY

(@ Faad 1 3R 2

(b) Faw 2 3R 3 \QQQ
g\

(c) Fa= 133 %§Q)

N
d 1, 23R 3@$Q

4. 3gHA 20, 10, 10, “15, 30, 75, X #
X 1 7 41 87
(@) 105
(b) 120
(¢ 150

(d 225
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5. fdt Tgam-13 i Y& ABCDEFG %, &g

srava € fh gt 0 ® R, s wW ool G
fm o= (%@ 1, 2, 4, 5, 7, 8, 9) &
Frefm =t ®1 78 w@n % 9 ¥ fawrss R
T ¥ YEen U 37 fie W, giomd @@
3% 6 4 fAvsa 2| @ & F e @ A
I A feR W ofomd @@ w5 @
fawrsa R q@ e F f A IF st =
fier w ufordt wen 3w 4 | fawrsa ) @
& F g @ IR F e W afomd
& 3% 3 A fawrsg B qm wen % afen |
gfeg il @ PR R ford de 3w 2 9
Tavrsa 2| Feafefas 3 @ $9-w1, @ o= &
T 9 3 % I 1 g9a 9 27

(a) "8
(b) 9
(¢ 11

d 12

6. 3 fim X 3R v e 3% #Xd ¢ 3N A 9y

50m % @& @ fem § dew w fag W
TEEd €1 X qfe ¥R 60 m drean B, wafE
Y 91d gga 40 m AT ®| FHF 918 X 9L
g 50 m I ¥ W1 &, FEH Y e
e 50 m ATH ¥ Tl ¢l 37« A
@ @ e §7

(@) 100 m
(b) 90 m
(c) 60 m

(d 50 m
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country including the Sutlej-Ganga Plains and
the Deccan Plateau. Where only a few decades
back there used to be lush green forests with
perennial streams and springs, there is only
brown earth, bare of vegetation, without any
water in the streams and springs except in the
rainy season.

3. According to the passage given above,
deforestation and denudation will
ultimately lead to which of the
following?

1. Depletion of soil resource

2. Shortage of land for the common
man

3. Lack of water for cultivation

Select the correct answer using the code

given below. \§®
S\
(a) 1 and 2 only %Q,
O
(b) 2 and 3 only &'Q\Q
N)
(¢ 1 and 3 only
(d 1,2 and 3

4. What is the value of X in the sequence
20, 10, 10, 15, 30, 75, X?

(a) 105
(b) 120
(c) 150
(d) 225

VGYH-D-CST/46A

5. An Identity Card has the number

ABCDEFG, not necessarily in that
order, where each letter represents
a distinct digit (1, 2, 4, 5, 7, 8, 9 only).
The number is divisible by 9. After
deleting the first digit from the right,
the resulting number is divisible by 6.
After deleting two digits from the right of
original number, the resulting number
is divisible by 5. After deleting three
digits from the right of original number,
the resulting number is divisible by 4.
After deleting . four digits from the
right of original number, the resulting
numbeér is divisible by 3. After deleting
fivedigits from the right of original
number, the resulting number is
divisible by 2. Which of the following
is a possible value for the sum of the
middle three digits of the number?

(a) 8
(b) 9
(c) 11
(d 12

6. Two friends X and Y start running and

they run together for 50 m in the same
direction and reach a point. X turns
right and runs 60 m, while Y turns left
and runs 40 m. Then X turns left and
runs 50 m and stops, while Y turns
right and runs 50 m and then stops.
How far are the two friends from each
other now?

(@) 100 m

(b) 90 m

(c) 60 m

(d) 50 m

[ P.T.O.
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7. Ffafga & @ 5@ 2099 & e A = 9. 290 321 418 3fn gl2 § § Fw-H weEw

faam am? Y 87
(@ 4

(a) 240
(b) S
(c) 6 (b) 32
(d) 7

(c) 418

8. ¥1,840 % u% faa@ =1 €50, ©20 3w #10
TEa & A § gam R S R g9
frmmR 50 e %W #§ 3y F=fafaa s
Wﬁqﬂ’uﬁﬁm:

1. €50 9 25 AR &W # I AR Iy
PaE €20 a1 AR €10 9 ARl §

(d) 812

10. &% 1 ¥ 9, @ dferdl § 38 woR =waf®m v
T & 7w dfts # fiF o €, i gud ufw

# ) e vee s § w0 den A AT 3
o ) Q&Q , . :
K IR el ofs § = gen weel ufe §
2. #20 T 35 A T oy g m i A A T A el 38 A D A
wvsoa@noaﬁﬂaﬁ # sty 78 ¥ R IR e 2, 3, 7 9
RTINS # 4 e A s A e i
3. €10 @ 20 A W ¥ sy K I Eﬁiﬁwﬁﬁ,ﬁ?mﬁﬁsﬁﬁmﬁm
YiaH €50 a3k €20 I@ e FA % fore T8 Fore wlism Hva 27
o
(a) 4
I FA § A FH-F w87
(b) Fa@ 2 3R 3
(c) 2
(c) %= 1 3R 3
(d) 1,23R3 @ 1
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7. Which date of June 2099 among the

following is Sunday?

(@) 4

(b) S

fc) 6

(@ 7

8. A bill for ¥1,840 is paid in the

denominations of ¥50, ¥20 and ¥10
notes. 50 notes in all are used. Consider
the following statements :

1. 25 notes of ¥F¥50 are used and the
remaining are in the denominations
of ¥20 and ¥ 10. ®

2. 35 notes of ¥20 are and the
remaining are in th ominations

of 50 and ¥ 10,00
S

3. 20 notes o are used and the

remaining are in the denominations
of ¥50 and ¥20.

Which of the above statements are not
correct?

fa) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only

(d 1,2 and 3

VGYH-D-CST/46A

9. Which number amongst 240, 321, 418

and 8!2 is the smallest?

(@ 2%

(b) 321

(C) 418

(d) 812

10. The digits 1 to 9 are arranged in three

rows in such a way that each row
contains three digits, and the number
formed in the second row is twice the
number formed in the first row; and the
number formed in the third row is thrice
the number formed in the first row.
Repetition of digits is not allowed. If only
three of the four digits 2, 3, 7 and 9 are
allowed to use in the first row, how
many such combinations are possible
to be arranged in the three rows?

(a) 4

(b) 3

€ 2

(@ 1

[ P.T.O.
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Fr=fefaa 4 (am) weaiwt & g Bl
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3 ui=ael W E sy en =nfey
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S et SR TR & wm F e v wen § R
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¥

(@) T HH & & 6 0w B o asefeg
W H AT T AT R

(b) TSHifaR! ® 9emE 3§ yfifEE @l A @
EUE IR I

(c) & #1E Wh vgf 9= PrEen 6 s
2, el adefe w2 ¥ s A g
@1 S gH|

(d) < HARTA HH FAEH H A €, T
1 YA F H TSI B ITar W
¥ T8I ST S GehaT|
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ufede—2

e T i SrEaSHS 8 W R, 59 78 guen
o o @ % wma # e w1 yer ww o R 9w
Faa gafore 7@ @ 5 st aftmn sga @ gl @ fr
e R ¥ R e f o wA H Be-vgl
foamerene &, afew 7 % i fFifta stasa st
TEd °WOT % FRU R| 9@ T # S9gi g @
HATH FIME F ®Y § GHgA [ 3 ®9 @ foft By
T e ® F - Fedaen Fes aifiga e s wwa
?1 3R e Sfaden 37 St @ afa A R, S ags
% ga-@red F gwifd Fidi €, @ dE-fdwa me
Fad TH Y 8| SeAsdan, g famw 3, frd 9w
Freht H Twped T R, Fmd e araa d wa @,
g @ a' & Sfa & fases g & fog arafes
gL ® 9 #§ off } S g e ok wy @
|y dafre iRl s wew R e sm
YTEfend], 3T I FH <fieil 1 21, 3R 3 3 vEe
i 778 A &9 | n1fdie fdaa & w9 3§ 3@ s R,
FHaaren amed # A FW 6, w9l m SN F
fopeq T & @ fafagargl si gegam sfiem o &,
3% et Hifa W o g ¥ dafie
B 21

12. YRA ¥ 3 T TR ) o 6 Be-ueh
Toramerere = 27

(@) T AR F A IeeE 2 T FR-AR A
‘e W@’ # A g

(b) o R W Te f T F fi= a5
siftrsp sramTand & |

(c) JIF-REFa W F FE  THEIH
Trgedt o 7€ 2

(d) q& TR F AW FF T AW
FANME % €9 H Tgd A W A90E B
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

“In simple matters like shoe-making, we think
only a specially trained person will serve our
purpose, but in politics, we presume that
everyone who knows how to get votes knows
how to administer a State. When we are ill,
we call for a trained physician, whose degree
is a guarantee of specific preparation and
technical competence—we do not ask for the
handsomest physician, or the most eloquent
one : well then, when the whole State is ill
should we not look for the service and guidance
of the wisest and the best?”

N
11. Which one of the followin %aterncnts
best reflects the messag the author

of the passage? §%

(a) We assume t in a\democracy,
any politician is ‘\qualified to
administer a State.

(b) Politicians should be selected from
those trained“in administration.

fc) We need to devise a method of
barring incompetence from public
office.

(d) As voters select their adminis-
trators, the eligibility of politicians
to administer a State cannot be
questioned.

VGYH-D-CST/46A

Passage—2

The poverty line is quite unsatisfactory when
it comes to grasping the extent of poverty in
India. It is not only because of its extremely
narrow definition of ‘who is poor’ and the
debatable methodology used to count the
poor, but also because of a more fundamental
assumption underlying it. It exclusively relies
on the notion of poverty as insufficient income
or insufficient purchasing power. One can
better categorize it by callirig.it income poverty.
If poverty is ultimately about deprivations
affecting human well-being, then income
poverty is only one aspect of it. Poverty of a life,
in our view, lies not merely in the impoverished
state in which, the person actually lives, but
also in the (lack of real opportunity given
by social constraints as well as personal
circumstances—to choose other types of living.
Even, the relevance of low incomes, meagre
possessions, and other aspects of what are
standardly seen as economic poverty relate
ultimately to their role in curtailing capabilities,
i.e., their role in severely restricting the choices
people have to lead variable and valued lives.

12. Why is the methodology adopted in India
to count the ‘poor’ debatable?

(a) There is some confusion regarding
what should constitute the ‘poverty

line’.

(b) There are wide diversities in the
condition of the rural and urban
poor.

(c) There is no wuniform global
standard for measuring income

poverty.

(d) It is based on the proposition of
poverty as meagre income or
buying capacity.

[ P.T.O.
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13. sm-fFdwa ‘e’ i o i TwaE T =
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(@) T& ¥ asft it e T FaA T TR
¥F 994 ) 919 @ B

15. X 3R v, 300 m &= g wEl # ded 7Y

3km ) 9 o ¥ FH I 3:2 F
IuE § B IR IEH TH-HG T € R §
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(b) HHE SiEd § 3 GEA w1 FAwE H
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-9 T aeed! @l g
()€ 7
(d) I-fdaa gy faswer-amm #1 B
WE g9 W AT 8 difta i R @) 5

14. ‘sﬁaq-ﬁﬁam’ﬁé@mwwg@§? 16. IR ish aofaren % FH B Iea W

S 3R # a0 3@ 99 = fefa
(a) "HE-SEA | 3 ATl S Fad A 5 sl m;%i 3
gl i ok @ ‘ iﬂaﬁqwm‘ cmox;’aﬁﬁsﬁa
5 A 3o B 3 Pt
Har &7
(b) T TR &t § wE @ R
TR Y 2 (a) OGXPMLD
(c) Tafam =fimm oRfeufel #§ @2 gu sEm (b) OGXQMLE
(@ "FE Sfaq § awgwE, 99 @ 9y (c) OFXPMLE
JfaEqa a9, S HgS & faweq-=wa
) el 9 @ difta w3 § (d) OFXPMLD
VGYH-D-CST/46A 10
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13. Why is income poverty only one measure
of counting the ‘poor’?

(a) It talks of only one kind of
deprivation ignoring all others.

(b) Other deprivations in a human life
have nothing to do with lack of
purchasing power.

(c) Income poverty is not a permanent
condition, it changes from time to
time.

(d) Income poverty restricts human
choices only at a point of time.

14. What does the author mean by ‘poverty

of a life’? Q
\\Q

(a) All deprivations in %Qhuma.n life
which stem not\phly from" lack
of income lack " ©f real
opportunities§

(b) Impoverished state.of poor people
in rural and urban areas

(¢) Missed opportunities in diverse
personal circumstances

(d) Material as well as non-material
deprivations in a human life
which restrict human choices
permanently

VGYH-D-CST/46A 11

15. X and Y run a 3 km race along a circular
course of length 300 m. Their speeds
are in the ratio 3:2. If they start
together in the same direction, how
many times would the first one pass
the other (the start-off is not counted
as passing)?

@ 2

() 3

(c) 4

(@ S

16. If the order of the letters in the English

alphabet is reversed and each letter

represents the letter whose position

it occupies, then which one of the
following represents LUCKNOW™?

(a) OGXPMLD

(b) OGXQMLE

(c) OFXPMLE

(d) OFXPMLD

[ P.T.O.
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17. 150 wioafmt awh frft wae @i # 19. = fau 7y 3ir 3 Fod | R A
So-5 $1 Racrel oS TRl ®, IW A W

W ;w1 x O RY
T s B1 97 TfEm e mn & 5 A of
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IR T R FoE F ar § Prefafea @ @
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i (@) FFe FYF-1.E TE F IW A F fag
. e &
(c) 149 (b)~3Tell HFUA—2 & WH F IW a7 F g
T4 ?
< i (c) FT-1 A FYF-2, 31, TH H TN
[ % forg waiw &
N
Q)\ (d) FE-1 IR FH-2, IA, TH F TN
18. 3-3% H Feaeh Q@ﬁ (SR FIET 33 % foru e 98 B
gam ey famm) Tl f \wen &
e i R R s w5, e A7
20. TF I5g A Fwa § 25% g H T 9
#9a F 20% 921 fegn T 3R R 10% 5@
s fean | e # ufeomdt 9fe =0 27
(b) 12 (a) 5%
(b) 10%
c) 16
€ 12:5%
(d 24 (d) 15%
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17. In a tournament of Chess having 19. Consider the Question and two
150 entrants, a player is eliminated Statements given below :

whenever he loses a match. It is given '
that no match results in a tie/draw.
How many matches are played in the
entire tournament?

Question : Is x an integer?
Statement-1 : x /3 is not an integer.

Statement-2 : 3x is an integer.

(@) 151 Which one of the following is correct
in respect of the Question and the
Statements?
(b) 150
(a) Statemént-1 alone is sufficient to
answer the Question
(c) 149
(b) ( Statement-2 alone is sufficient to
answer the Question
(d) 148
{c) Both Statement-1 and Statement-2
are sufficient to answer the
® Question
©
iy (d) Both Statement-1 and Statement-2
18. How many 3-digit n numbers ;
e @’ its) Al Worre are not sufficient to answer the
wi
( v Q\ : e Question
such that each is. odd - and the

number is divisiple by 57
20. The increase in the price of a certain item
was 25%. Then the price was decreased

(a) 8 by 20% and then again increased by
10%. What is the resultant increase in
the price?

(b) 12
(a) 5%
b 0,

© 16 (b) 10%
(c) 12:5%

(@) 24 (d) 15%
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Frefafaa 3 (F7) gyt = forg Fdw .

frafafiga ufede # ufey ol e M9 oW T
AT % I AT 3 g F e s IW Fad
79 qi=ag | @ nahd 29 =Jifee)

uftedg

g & 3o Sl W TEa R A IR wgE g f
Il TRl ) € o vge T R ) 39 H A A H
el iR 7 @ e FR-wmeE T @ ' A e
WahH e R R R 7 g a I W
F w1 39 B | AR AfeF qEE w1 ST S @,
A Fo WH FH F g sges & S| dafe
IV T FEEIS] B P A A GEHF 8 wHa 2 F
eifiehl aga S d we@ W R Sga-E T@ qRE
ufdnft serq/emle F due fRaE g @mEn S @ R
ufim & Rl deiE $9 WH W IwEREdE wue
%) it Ieqresh o9 % forg s s @ § 1 henfeR
1 1§ I TE, R 98 @0 7 N ) fawrfa
fau # 78 adwe B TR W I @ Ak B
7r. el woton  oné e g
s ) Awan FR yonfert H TR
S T s Prae % Rorg TR AT FE T, T
wmﬁﬂﬁﬁmﬁﬁﬁmmm
wifge, vgemn W, @ wR AEeEw 6 f st
rmE-3Yeed B w1 gl wWe dem wew i
vigrwr glaard S <fist 6t agd, R ity awm
#H AR T GeE H T EH AR I TR B B
o s @)

21. IR gfeRe | ey, Fefafed gEemomd
TG E

1. i Defeh & fawm, fawha 2w @
Hifta R

2. N defeh, femsfa e 7 G
HYATE T 2
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It qEuRonaTt # ¥ FH-w1/8 A9 /87
(@) ¥ 1

(b) FE 2

(¢ 1 3R 23

(@ AN 13IA# 2

22, I9gw diede W amyria, Prafafea geumomd
FTEWE

1. T 3 B G IdEE F aww A
giterda el Sqravasdl 2l

2. Twfad TOhe g SER i |
2 3R AErEE ) F FE6 T 6

sy qdemned § ¥ Fe-E1/3 3w /87
(@) Faa 1

(b) FaE 2

(c) 1 323N

(@ @ 1ARITA 2

23. I9gw qieds W i, Prafafes qeumomd
TR E :

1. et difed ¥ fou w@iw @R g
Aol = grm)

2. HURe HH, TE I A GEm G
F forg wmwwe frspew R

I qEurone § F FE-91/8 A9 2/E7
(@) ¥ 1

(b) Fa« 2

(c) 1 3R 23

(@ @ 1dARAH2
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Directions for the following 3 (three) items :

Read the following passage and answer the
items that follow the passage. Your answers
to these items should be based on the
passage only.

Passage

In some places in the world, the productivity of
staples such as rice and wheat has reached
a plateau. Neither new strains nor fancy
agrochemicals are raising the yields. Nor is
there much unfarmed land left that is suitable
to be brought under the plough. If global
temperature continues to rise, some places will
become unsuitable for farming. Application of
technology can help overcome these problems.
Agricultural technology is changing fast. Much
of this change is brought about by affluent
farmers in the West/Americas. Techniques
developed in the West are being adapted in
some places to make tropical crops more
productive. Technology is of little use_if it is
not adapted. In the developing , that

applies as much to existing farmi chniques
as it does to the latest adva in genetic
modification. Extending to smallholders

and subsistence farmers ica and Asia the
best of today’s agricul practiees;-in such
simple matters as how much fertilizers to apply
and when, would lead to a'.greatly increased
availability of food for humanity. So would
things like better roads‘and storage facilities,
to allow for the carriage of Ssurpluses to markets
and redllcc wastage.

21. Based on the above passage, the
following assumptions have been made :

1. Development of agricultural tech-
nology is confined to developed
countries.

2. Agricultural technology is not
adapted in developing countries.

VGYH-D-CST/46A
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Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

() Both 1 and 2
(d) Neither 1 nor 2

22. Based on the above passage, the

following assumptions have been made :

1. Poor countriés need to bring about
change in_their existing farming
techniques.

2. Developed countries have better
infrastructure and they waste less
food.

Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

23. Based on the above passage, the

following assumptions have been made :

1. Growing enough food for future
generations will be a challenge.

2. Corporate farming is a viable option
for food security in poor countries.

Which of the above assumptions is/are
valid?

(a) 1 only

(b) 2 only

(¢) Both 1 and 2
(d) Neither 1 nor 2

[ P.T.O.
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24, 99 A, B, C, D 3R E 3@ @& =¥afeq fry Mg

2 1% A 3l E % <=9 qua= 2 a9 §) 3@ @&

Torert sraad dya &7
(a) 12 (b) 18
(c) 24 (d) 36

25. = fu e yw 3R 3 FE w fEr A

T : 1 Z, X 9T 87
-1 : YH 9E X2 3R Zzw g YR
FY-2 : X, Y 3R Z géer g /we B

I T AR FYA F 9R § Fefafe § @
FH-91 TF T 87

(@) FHel FUF-1 & T F IW 31 F fQ
990 & \\Q

(b) mm—mwab@%ma#m

Tate Q\Q

(c) FEI-1 aﬂt@q—z, AL, W H W
1 % forg vafm @

(d) FH-1 3N FYF-2, B, TH H IFN
3 % forg vaim 7€ §

26. 101 km T UsH & Th fFR TH-g@ @
FAH g W 101 Y AW 7Y 7| 5 FHHOTE G

¥ o o e 0 27
(a) 40 m (b) 404 m
(c) SO0 m (d) 505 m
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27. A B3I Rcimwmw@ Rt & A9 B

% forg = e 1= €, B® C & fou s fim
TH 8 3R A® CF fou i fim w=a &1 &
TEI F WA W FIE Afe fhaq i ww |
A® CdF 5 GFar &7

(@) 10 (b) 13
(c) 15 (d) 36

28. A% YW F© T 8198 39 9 o9 fimi A 2

3R foe fram B &1 <@ 31 B3I ¥ a9
et # 2 iR T e c# 3@ R) CcIH
A A Rl 7 2 v R feme D @
D H 9w 3w fe R &, 98 @ =i A
TYTH e R | g€ § A F uw fran T 87

(@) 76 (b) 68
) 60 (d 52

29, 3t AABABCABCDABCDE... § 1009 ¥&H

W FH-41 F01 {rem?

(@) G (b) H
(c) 1 (@ J

30. @ =AfF A, B 3R C fwh dfw () 4 @3 &

fopeg arravas 7€ fF s F A q1 AR B
% 9 4 =afs € 3R Baw Cc & ¥ 7 ==fE
faR cFam 11 AfRFE iR A F 0D 13
=afh &, @ dfs § @ =l ) = g
w87

(@ 22 (b) 28
(c) 32 (d) 38
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24, The letters A, B, C, D and E are arranged

in such a way that there are exactly two
letters between A and E. How many
such arrangements are possible?

(a) 12 (b) 18
(c) 24 (d) 36
25. Consider the Question and two

Statements given below :

Question : Is Z brother of X?

Statement—1 : X is a brother of Y and

Y is a brother of Z.
Statement-2 : X, Y and Z are siblings.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is s
answer the Questiong\\

ent to

(b) Statement-2 aloneb§’ sufficient to
answer the Qu@m

(c) Both Stater@t—l and Statément-2 -

are sufficient to  answer the

Question

(d) Both Statemernit-1 and Statement-2
are not sufficient to answer the
Question

26. On one side of a 101 km long road,

101 plants are planted at equal distance
from each other. What is the total
distance between 5 consecutive plants?

fa) 40 m (b) 404 m

fc) 50 m (d) 505 m

VGYH-D-CST/46A
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A, B and C are three places such that
there are three different roads from A
to B, four different roads from B to C
and three different roads from A to C
In how many different ways can one
travel from A to C using these roads?

(@ 10 () 13

© 15 (d 36

28. A has some coins. He gives half of the

coins and 2 more'to B. B gives half of
the coins and 2 miore to C. Cgives half of
the coins and 2 more to D. The number
of coins D has now, is the smallest two-
digit number. How many coins does A
have.in the beginning?

(@ 76 (b) 68

(c) 60 (d) 52

29. In the series AABABCABCDABCDE..,

which letter appears at the 100th place?

(@ G (b) H

€ 1 @ J

30. Three persons A, B and C are standing

in a queue not necessarily in the same
order. There are 4 persons between
A and B, and 7 persons between B
and C. If there are 11 persons ahead of
C and 13 behind A, what could be
the minimum number of persons in
the queue?

(@) 22 (b) 28

(c) 32 (d) 38

[ P.T.O.
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TPt 4 (W) wwaivt & fore fdw -

Frfafaa Y afedst 1 aRy ok =% 99 oW 9@
TeAE % I AR 7 v F R o W Faw
 aR=3d W& i B =iy

qfEdg—1

TEHaE a1 (TR feieE) et W gataen
GEAE T A wFAT| gAY ad9H She-age
wfaig weifufEt % g, st e § w § @ §,
g e it ft TR TE B T | THE gfory 7 § R
3 yefoat faggm & smift < el yRgem @
TE W wHdl | Iusifaa A 3 fAeem w1 Iwerh,
ayfeE Wl H, J AW A FE@ oS owwa B, N
AT fagy @ Sfaw gdensdt (G, I k)
w9 N ¥ swmd ¥ et W oSfEt ¥ faew
(§regem) A yenferedt 1 forgw 1 o wg@ fadwan
W@ B FduM & geeft W T K o weteal 8w
& qufy 90% & st yenfed, A o wedh e off,
¥a fage & g 1w WW fiw, fygia
39 91 F1 GaeHE g o A B Se &
i v e g v @l S, @ g
w%mmﬁm%ﬁﬁmiiﬁ@sﬂm%
R # efdqardt e w aR R W, gun 3R
HeH IRFge | ST 2—siial w5 Sfad 3 gty @
faw gl # e & w9 d-fage @ o 2, R
WA I SUGHEA I G T AR TE ww
B @i, dusfa e fem Rk arae o
fregra ® & € fowm fa —ad g ) Rew 6
frnfaf (aifd ¥ wrpfes a1 wega ) 1 wiw
e Ay SAfel | B W R) arad #, anft 0@
TEA F D OFEE e d A R o o e
SQATIH, aTeAfame,  SawE,  Shawdd,
Al a1 ofifos et 3 d@ea 9d e &) AR o
&1 faur 3 R, @ ol F fam dw-dw Ffe,
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faferd, =1z7 3R smeRT gr wafia Pt @
A = % A wpfos Faw-ag=m € < e &
o Hema H e wa &)

31, =87 F FFER, WHld T g W el
qatawl 1 qafgem T # g g, it

1. S wynfoal oot e § @2 yafavim
el F g A F e g aw
Taw 7 &, 3 fage @ s

2. 9l Fdum =it fage @ s, w=ifs
I AN SfFw ghenst w1 T I
TR

3. wafEwia gfeddl w3 9@ § i
JigHa & yRomEEy feiew @ smom

4, . wSfadl #1 faeE s 3 e R
= g T 2 w1 wEm g I g

1,233
2, 3 3R 4
1,334
1, 23R4

(a)

(b)

(c)

(d)
32. ¥ df=s% q' gl ¢ T fowm # sfdfward

forgia 15 Rreia @ @ =, wifs

(@) 7 GR-vard frgia 1 wge T8 F

(b) e, wafavfn sk s e A
o &

(c) Ta% Gea % forg hd wieg =i &
(d) et % s F1 47 givewal # &

\
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

Natural selection cannot anticipate future
environments on the earth. Therefore, the set of
existing organisms can never be fully prepared
for environmental catastrophes that await life.
An outcome of this is the extinction of those
species which cannot overcome environmental
adversity. This failure to survive, in modern
terms, can be attributed to the genomes which
are unable to withstand geological vagaries
or biological mishaps (infections, diseases and
so on). In biological evolution on the earth,
extinction of species has been a major feature,
The earth may presently have up to tep million
species, yet more than 90% of speci &.t have
ever lived on the earth are no q\.mct. Once
again, the creationist d es fail \to
satisfactorily address why vine creator will
firstly bother to create ions ‘of species and
then allow them to rish. The, Darwinian
explanation for extinct life is once again simple,
elegant and at once convincing—organisms go
extinct as a function sof ‘environmental or
biological assaults for which their inheritance
deems them ill-equipped. Therefore, the
so-called Darwinian theory of evolution is not a
theory at all. Evolution happens—this is a fact.
The mechanism of evolution (Darwin proposed
natural selection) is amply supported by
scientific data. Indeed, to date no single
zoological, botanical, geological, paleontological,
genetic or physical evidence has refuted
either of the central two main Darwinian ideas.
If religion is not taken into consideration,

VGYH-D-CST/46A
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Darwinian laws are acceptable just like the laws
proposed by Copernicus, Galileo, Newton and
Einstein—sets of natural laws that explain
natural phenomena in the universe.

31. According to the passage, natural
selection cannot anticipate future -
environments on the earth as

1. species not 'fully prepared to face
the environmental changes that
await them will face extinction

2. all the existing species would get
extinct as their genomes will not
withstand biological mishaps

3. _inability of the genome to withstand
ényironmental changes would
result in extinction

4, extinction of species is a common
feature

Select the correct answer using the code
given below.

(@ 1,2 and 3
(b) 2,3 and 4
(¢ 1, 3 and 4
(d 1,2 and 4

32. The passage suggests that Darwinian
theory of evolution is not a theory at all

because

(@) it does not satisfy the creationist
doctrine

(b) extinction is a function of
environment and biological
assaults

(c) there are no evidences to refute it

(d)

existence of organisms is attributed
to a creator

[ P.T.O.
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33. 6 W=7 ¥ w= A, Fmfafaa gEuromd s
TR

1. %aa 9 yenfea! sifda @ f v =mm
wit o yafarfy sefefs @ ar a@
H &man Bt

2. valEw # 3 ufEddl % HRU geEl W
90% ¥ wiftrw yenfeat foge & WA %
aR ¥ Bl

3. wifd = fagia ot wiwfow wemed 6
T FAl B

394 qEuRonS # § -1 /3 49 /%7
() Faa 1
(b) Faa 1 3R 2
(c) Faa 3
(d 1,23R3 g\\

Rr e wgfe, =@ e &R 9gd §¢ PN
T & Y R qerafiy afEn 6 gen scfis
ft @ = R 38 FyEan & HYaRom 3 gu 6 emer
gfeedl iR Sl Iudm W/ A SeeE I g1 @
TY-IRE, HBll AR "W W IR WEH-anuiia
HER w1 o &, B aft & I A sme-anuria
HER F Iqe H e FE s wEn # s« A
Arawwa B ¥ goEn iR faggq wefl/shewi
3 A ATl F g 7Y I % forg sifvu S
# AEwEFal BN B, IR FA F FTH *F U 57 f
SATEIH1 Bt B
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34. T=fafga wuFl § § F9-91 w 9 of=de &

7 = gaan w9 ¥ wlafafred w87

IA-3YING 3MER 3 & & @ *
Tore Tsft foran st =R

(b) A T TG H ARG F FN IaAEHA
AR At Fei-sm ama RefE =@
W S Hfgd FH H AEvTFal 2

() ngf=w Wefeba, fFm A F
wieFfos 3w e #§ w@edE
R

(d) 3R FA-99 F YRG ¥ T T
Yt # qehE S| aM H
STEeEHAT B

35, x §uE, x &, xﬂ‘ﬁ, x e 3R x dwve

Fdl fohen dave &7
(@) 11580x
(b) 11581x
(c) 694860x

(d) 694861x

36. P, Q, R, S, T3 U WRar ¥ ©: wee §)

Q#H/H ufd/ucht RBI TH A UR SR U
fE st PRTH TR RrRF g PRI
74 i@ # 9 dufy &) fr=fefaa & @ f9-m
T Fel 87

(@ THTE/TH QR
(b) T /T QR
(c) PH A RE

(d) Qi wirh/dfeh T8
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33. With reference to the passage, the
following assumptions have been made :

1. Only species that have the
ability to overcome environmental
catastrophes will survive and
perpetuate.

2. More than 90% of the species on
the earth are in the danger of
getting extinct due to drastic
changes in the environment.

3. Darwin’s theory explains all the
natural phenomena.

Which of the above assumptions is/are
valid?

(a) 1 only
(b) 1 and 2 only

(c) 3 only

S

$
\Q‘b

e ®

With steady economic growth, higher literacy

(d 1,2 and 3

and increasing skill levels, “.the. number of
Indian middle-class families,~has gone up
exponentially. Direct results of the affluence
have been changes in dietary patterns and
energy consumption levels. People have moved
like milk
products, fish and meat, all of which need

to a higher protein-based diet

significantly more water to produce than cereal-
based diets. Increasing use of electronic and
electric machines/gadgets and motor vehicles
needs more and more energy and generation of
energy needs water.

VGYH-D-CST/46A
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34. Which one of the following statements

best reflects the crux of the passage?

(a) People should be persuaded to
continue with the mainly Indian
traditional cereal-based diets.

(b) India needs to focus on developing
agricultural productivity and
capacity for more energy generation
in the coming years.

(c) Modern technological developments
result in the change of cultural and
social behaviour of the people.

(d) Water ‘management practices in
India need to change dramatically
in the'coming years.

35. How many seconds in total are there in
xweeks, x days, x hours, x minutes and
x seconds?

(@) 11580x

(b) 11581x

(c) 694860x

(d) 694861x

36. P, Q, R, S, T and U are six members of
a family. R is the spouse of Q. U is the
mother of T and S is the daughter of U.
P’s daughter is T and R’s son is P. There
are two couples in the family. Which one
of the following is correct?

(@) Q is the grandfather of T

(b)
() R is the mother of P

(@)

Q is the grandmother of T

T is the granddaughter of Q

[ P.T.O.
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37. TR T F A well P, QR RF M A AR
fu e g 3R A FuA ® AR fiftw

T : W P, U Q& TRl w R?

FYgA-1: TR Q, W R¥ 18 km R #|
FYF-2 : TR P, TR R ¥ 43 km { B
It v 3wl ¥ aR F Fefalaa 3 Q
FH-H1 TF FE _7

(@) FE FU—-1 & WA H IW A F g
e #

(b) FHE HU-2 E T F IW A & forg
9a7e ®

c) FHF-1 3 FL-2, THI, TH F IN
2 % forg vate &

(d) F-1 IR FYF-2, THI, TH T IW
1 % forg vy 44 §

38. 3 HYH 3N FF 9 =R Frerd e Ry #)
F99 Jafy W T4 9241 ¥ W T 8@,
@A ft R IR T WA R £l
ufen ik 7@ fga Hifg T fsest
¥ P-u1/A Freed, ) 6 e

mgwmga%mma s
W—I:H‘ﬁﬁﬁ,m&%l

FUA-2 : FI FHI, oL 8

frepd-1 . ot FfT, fead B
fremd-11 : ¥o $REEl, Fad ¥
Frepd—1i1 : wsft foraret, FRfat §)
frepd-1v : &g oft i, forara 7 R1
frffiaa # @ F9-T1 & @ 27

(a) Faa Frepd-1

(b) Faa -1

(c) Trerd-111 3R Fepd—1v At

(@) o Trewst § / 4 oft sgfia 76 S
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39. i Y 3R 3% 912 fim frerd 9 g o #)
FY4 A G F19 9ed] | T wdd @,
A ot R 3R T gE 2 asft Fest )
ufey 3R a8 fem Aifvg B g o fFemt 3
¥ BA-u1/3 frerd, = 3@ qed A W
A L T FE A THET T A AFIE
B B/E0 B

FY-1 : 9 eae, e )
Fua-2 : aft e, hfaem 2
FUA-3 : Tt S, At 2
w1 : Fo A, i 2
11 : |+t Sefifaer, <faex 21
Frrd—anl : 3o i, i #)
fferfiaa # ¥ FF-1 T wd 27
(@) Faa Fead-1

(b) Faa eI

(c) Tred-1 o fasd—n1 <t
(d) Trerd—1 3R ferd—11 91

40. 3e faqaneff A, B, C, D, E, F, G 3R H T

FAEHR A9 % URG: A FR H IR g@ R
T - ¥ w-wE g m R §, By
yevE it A A E B DA
@ CHFafame &, 7@ CF i A 92 B
EMDEdNA AT, MBI HF
4= 3§ F 931 B frefafes § @ $9-w1 @
i w9 @ wd B7

(@ AR GF = BT R
(b) G%3F WM CHAR
(c) F% 3% 91 E <31 &
(d) I A A ¢ TE
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37.

38.

Consider the Question and two
Statements given below in respect of
three cities P, Q and R in a State :

Question : How far is city P from
city Q?
Statement-1 : City Q is 18 km from
city R.
Statement-2 : City P is 43 km from
city R.

Which one of the following is correct

in respect of the Question and the

Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement-2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

Two Statements followed four
Conclusions are given bel vJ\ u have

to take the Statements true even
if they seem to be at v ce from the
commonly known fadts. Read all the

Conclusions an -decide which of
the given Conclusions logically follows/
follow from the Statements, disregarding
the commonly known facts :
Statement-1 :7All pens are books.
Statement-2 : No chair is a pen.
Conclusion-I : All chairs are books.
Conclusion-II : Some chairs are pens.
Conclusion-III : All books are chairs.
Conclusion-IV : No chair is a book.
Which one of the following is correct?
(a) Only Conclusion-I
(b) Only Conclusion-II
(c) Both Conclusion-III and
Conclusion-IV
(d) None of the Conclusions follows

VGYH-D-CST/46A

39. Three Statements followed by three

Conclusions are given below. You have
to take the Statements to be true even
if they seem to be at variance from the
commonly known facts. Read all the
Conclusions and then decide which of
the given Conclusions logically follows/
follow from the Statements, disregarding
the commonly known facts :

Statement—1 : Some doctors are
teachers,
Statement-2 : All teachers are
engineers.
Statement-3 ( : All engineers are
scientists.
Conclusion=l - : Some scientists are
doctors.
Conclusion-II : All engineers are
doctors.
Conclusion-IIl : Some engineers are
doctors.

Which one of the following is correct?

(a) Only Conclusion-I

(b) Only Conclusion-II

(c) Both Conclusion-I and
Conclusion-III

(d) Both Conclusion-I and
Conclusion-II

40. Eight students A, B,C, D, E, F, Gand H

sit around a circular table, equidistant
from each other, facing the centre of the
table, not necessarily in the same order.
B and D sit neither adjacent to C nor
opposite to C. A sits in between E and D,
and F sits in between B and H. Which
one of the following is definitely correct?

(a) B sits in between A and G
(b) C sits opposite to G

(c) E sits opposite to F

(d) None of the above

[ P.T.O.
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Frafafaa 4 (Iw) syt & forg Fdw .
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41. Tg uft=de 30 oM W s@%‘eﬁ:
(@ wawﬁmf‘aqgg&ﬁmmﬁq

(b) TR 1 FwEd @ g s
FE - B

(c) VI 7= e T AL F wehal

(d) TIE U AfHF FoA FH1 S TEl
@ Al

42. [T eArEfa it der TE wa, [bifn
(@) % Sifgw ¥ & gem TE R
(b) 9% U gH foC W A R
(c) 38 shfeerare 3 e = o 2

(d) 38 T i ® oI 98 oefes &9 @
areft 2
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FEFH AY TS 6 e a=9akal el 81 3R I
T4 R "G F e T@E el R, W EEd
Hgfg R F 7gm § Hem e wifee) aurfy, sitrda
T F T AR Y SHEE H o W R
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43, v@ SR AN Y& | S ?, a9 fd
m d fafafes & 3 = cEw ufa
B /e

1. Frer @i it wem weh

2. fd g% 3R G g 3 H I FB
g & forg gem|

3. wwEEd gfg X Hw fRR & woh)

= fow e 2 1w R Ed I gh
(@) Faa 1 3R 2

(b) 2

(c) Fa@ 1 3R 3

(d 1,23R3
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Directions for the following 4 (four) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

For two or three generations past, ever-
increasing numbers of individuals have been
living as workers merely, not as human beings.
An excessive amount of labour is rule today
in every circle of society, with the result that
man'’s spiritual element cannot thrive. He finds
it very difficult to spend his little leisure in
serious activities. He does not want to think;
or he cannot even if he wants to. He seeks not
self-improvement, but entertainment which
would enable him to be mentally idle and
to forget his usual activities. Therefore, the
so-called culture of our age is dependant
more on cinema than on theatre, re on
newspapers, magazines and crimes% es than
on serious literature. ®

S
41. The passage is bas @l the idea that

(a) man shoul@%t work, hard

(b) the great evil of , our age is
overstrain

(¢) man cannot think well

(d) man cannot care for his spiritual
welfare

42, Man does not seek self-improvement
because he

(a) is not intellectually capable
(b) has no time to do so
(c) is distracted by materialism

(d) loves amusement and is mentally
idle

VGYH-D-CST/46A

Passage—2

The demographic dividend, which has begun
in India and is expected to last another few
decades, is a great window of opportunity. The
demographic dividend is basically a swelling in
the working age population, which conversely
means that the relative ratio of very young and
very old will, for a while, be on the decline.
From the experience of Ireland and China,
we know that this can be a source of energy
and an engine of egonomic growth. The
demographic dividend tends to raise a nation'’s
savings rate since 'in any nation, it is the
working age population that is the main saver.
And since the savings rate is an important
driver of growth, this should help elevate
our growth, rate. However, the benefits of
demographic dividend depend on the quality of
the, working age population. And this implies
bringing back the importance of education,
acquisition of skills and human capital.

43. Which of the following would invariably
happen in a country, when the
demographic dividend has begun to
operate?

1. The number of illiterate people will
decrease.

2. The ratio of very old and very young
will decrease for a while.

3. Population growth rate will quickly
stabilize.

Select the correct answer using the code
given below.

(a) 1 and 2 only

(b) 2 only
(c) 1 and 3 only
(d 1, 2 and 3
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44. W W=t w1 W= od g Frafafed & |
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Haha &7
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wh s dafs ® TEn ¥ R
Hfvard gm &)

2. 3= Toan &t 3afa foeeft 2o & oo ot @
wh e el @en ¥ fw w
Afard gm 2

9= fag e %2 = W@ W wd I g
(@ ¥4 1

(b) FaE 2

(¢) 1 3R 23N

(d A@M13IA2

45. g P, Q, X, Y 3R 23 38 Aegs @lidi

e g AR A R S

1. Xﬁ%ﬂﬁﬁzﬁaﬁﬂg@sm
Megsd zA @il o

2. P3R Q7 fieEw @l |

3. P 3 feh aiid w5 A
FegF: Q1 @l

4. X 3R v faase 28 Aegs @i

5. X 3 oot S w0 @@ 5 afis
Fregs P A @i

R yd® AegH N g €40 2, @ wf
e A T @ frat 27

(@) €2,600
(b) €2,400
() €2,360
(d) €2,320
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46. 1§ =AfF WA 14:30 99 e 3R =0 W

Tia ggel, 99 i hl g A 15:15 §§ F
wqa feamn| =8l 25 fiFe e, 98 9ea 9@
AP i e 1-25 T @& qE A, A A
B AN W 16:00 TN A W GEET| W A
ugt A gern # e A v

(@) 10 fime oif 2
(b) 5 fime «idt R
(c) 10 iz o=

(@5 iz o= ®

47. % Afth X, T Fem 8: 941 A, B, C, D, E

3R F# dfen wmea ®1 3t A =t fieh wemt
# wen B # fielht wedl 6 gen A A,
C % et wendl it wen A &=, DA
et wemt & g AN =wR [, E F feh
el ) gen o= T R F A e
Femt f gen I B TR, A X F A
Tt om wied =fee 5 ® = 9 fich
FHem! & TEd 99 G BY

(@) 147
(b) 150
(c) 294

(d) 300
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44, With reference to the passage, which of

the following inferences can be drawn?

1. Demographic dividend is an
essential condition for a country
to rapidly increase its economic
growth rate.

2. Promotion of higher education is
an essential condition for a country
for its rapid economic growth.

Select the correct answer using the code
given below.

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

45. Five friends P, Q, X, Y and Z purchased

some notebooks. The relevant

information is given below :

1. Z purchased 8 not s miore
than X did. §

2. P and..O. to r pufchased

21 notebooks Q\

3. Q purcha@S notebooks less
than P did.

4. X and. N
28 notebgoks.

together purchased

5. P purchased/ 5 notebooks more
than X did.

If each notebook is priced ¥40, then
what is the total cost of all the
notebooks?

(@ 2,600
(b) 2,400
(c) €2,360
d €2,320

VGYH-D-CST/46A

27

46. A man started from home at 14:30 hours

and drove to village, arriving there when
the village clock indicated 15:15 hours.
After staying for 25 minutes, he drove
back by a different route of length
1-25 times the first route at a rate twice
as fast reaching home at 16:00 hours.
As compared to the clock at home, the
village clock is

(a) 10 minutes slow
(b) 5 minutes slow
(c) 10 minutes fast

(d) 5 minutes fast

47. A person X wants to distribute some

pens among six children A, B, C, D, E
and F. Suppose A gets twice the number
of pens received by B, three times that
of C, four times that of D, five times that
of E and six times that of F. What is
the minimum number of pens X should
buy so that the number of pens each
one gets is an even number?

(@ 147
(b) 150
(c) 294

(d) 300
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¥

(c) FH-1 AR HY , T W W

%ﬁ%'ﬁﬂ%@

(d) FL-1 IR FYF-2, I, A F N
31 % fore wgie = &

49, = fu mu yw iR A FuH | fmw Hifve .

W ;w27
FUA-1 : T 39 w5 A 24 99 91 B

FYF-2 : 5 99 =@, FAw R I 5 i
1Y 3 : 5 % 379 § Bl
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frefifes § & @ @ IHE wH o
Fort ¥ AR & wh 27

(@) ¥Fen FHE-1 & TH F IW A & T
i R

(b) FheN FYA-2 E YH F IW 31 F AU
9aiy 2

(c) FA-1 3R F-2, 21, TN F IN
A % o vy @

(d) Fg-1 3R FA-2, 21, TH H IW
3 F forg qaiw E &

50, 9: FTEAM.A.B, C, D, E 3R F, Sl ¥4+ TF

=) G7afy ¥ ¥, wE: 8:00 s iR 9UR
2:00 53 ¥ 9 figa frg o §)

H e e v ef 9 FuEt w fomm fifs

e ffal FreEm-sEty (dfee) § FR-a
T 87
FYA-1 : ATEIH F % 1% I8 ATAH A
3R 3% 9. § FARAN C g1

FYI-2 : ATAE B & 98 HIE ATHE e

2l

frafafigs § @ *¥R-@1 @ I9gE WA iR
EX LI

(a) 3TFeT FYA-1 A T 1 IR A F fog
i #

(b) HheNl FYA—2  WH F IW oA & fog
afy &

(c) FF-1 IR FYF-2, TEI, TH H IN
= % forg iy &

(d) FI-1 AR FYgF-2, qH, TA F IR
31 % fog wafe 78 §
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49. Consider the

48. Six persons A, B, C, D, E and F are

sitting equidistant from each other
around a circular table (facing the
centre of the table).

Consider the Question and two

Statements given below :

Question : Who is sitting on the
immediate left of A?

Statement-1 : B is sitting opposite to
C and D is sitting
opposite to E.

Statement-2 : F is sitting on the
immediate left of B.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufﬁ@pt to
answer the Question s\\Q

(c) Both Statement-1 an &tcment—Q
are sufficient @ swer| the
N\

Question

(d) Both Statem@l and 'Statement-2
are not sufficient to ‘answer the
Question

Question and two
Statements given below :

Question : What is the age of

Manisha?

Statement—1 : Manisha is 24 years
younger than her
mother.

Statement-2 : 5 years later, the ages of
Manisha and her mother
will be in the ratio 3: 5.

VGYH-D-CST/46A
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Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement-2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

50. Six lectares A, B, C, D, E and F, each

of onel hour duration, are scheduled
between 8:00 a.m. and 2:00 p.m.

Consider the Question and two

Statements given below :

Which lecture is in the
third period?

: Lecture F is preceded by
A and followed by C.

Question :

Statement-1

Statement-2 : There is no lecture after
lecture B.

Which one of the following is correct
in respect of the Question and the
Statements?

(a) Statement-1 alone is sufficient to
answer the Question

(b) Statement-2 alone is sufficient to
answer the Question

(c) Both Statement-1 and Statement—2
are sufficient to answer the
Question

(d) Both Statement-1 and Statement-2
are not sufficient to answer the
Question

[ P.T.O.
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(b)

(c)
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ufeds—2
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52. 7@ fese @1 W= od gu Fefafea wo #
| -1 T W R7

(@) ¥Faeh % faq svedd & Jwifed weg@
FA1 G TE ¢

(b) IUER W FAEHI F A YN TeqE HA
F UF ¥ A FRO B FFd B

(c) @ H 98 Y1 TEl & fF Fu% Iueni A
w9 wifed #41 Tegw F: &1
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on

the passages only.

Passage—1

In an economic organization, allowing mankind
to benefit by the productivity of machines
should lead to a very good life of leisure, and
much leisure is apt to be tedious except
to those who have intelligent activities and
interests. If a leisured population is to be
happy, it must be an educated population,
and must be educated with a view to enjoyment
as well as to the direct usefulness of t; ical
\\Q
S
51. Which of the followin, éﬁtements best
reflects the unde@-g tone . of * the
passage? @
(a) Only an educated population can
best make use of ‘the benefits of
economic progress.

knowledge.

(b)

All economic development should
be aimed at the creation of leisure.

An educated
population of a country leads to
an increase in the happiness of
its people.

increase in the

(c)

Use of machines should be

in order to create

(d)
encouraged
a large leisured population.

VGYH-D-CST/46A
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Passage—2

If presents bring less thrill now that we are
grown up, perhaps it is because we have too
much already; or perhaps it is because we have
lost the fullness of the joy of giving, and with
it the fullness of the joy of receiving. Children’s
fears are poignant, their miseries are acute,
but they do not look too.forward nor too far
backward. Their joys are.clear and complete,
because they have not.yet learnt always to add
‘but’ to every propesition. Perhaps we are too
cautious, too anxious, too sceptical. Perhaps
some ‘of our eares would shrink if we thought
less about them and entered with more single-
minded enjoyment into the happiness that

come our way.

52. With reference to the passage, which one
of the following statements is correct?
(a) It is not possible for adults to feel
thrilled by presents.

There can be more than one reason
why adults feel less thrilled by
presents.

(b)

(c) The author does not know why

adults feel less thrilled by presents.

(d)

Adults have less capacity to feel
the joy of loving or being loved.

[ P.T.O.
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(@) Fda IR wfess & I § st e
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55. UF TEH1-39ia aren &, s fo 3-3 #

Yaftes afigm den () difmd 1@ 7
T 3F €| H§ % I T ) fF F
i a1t ¥ e F wed guwA A B H
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fyman frem vl § fm = ffdm o
ST S "l 7

(@ 6

(b) 8

{c) 10

(d) 12

56. ol 39 W -9 gl I 31e fag 31 W

forgait 1t o 3 =am A & = AR R
T By EF s wed €7

(@ 24

(b) 16

fel.: 12

(d) 8
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53. The author of the passage is against 55. There is a numeric lock which has

a 3-digit PIN. The PIN contains digits

(@) worrying too much about the past 1 to 7. There is no repetition of digits.

and future The digits in the PIN from left to right

are in decreasing order. Any two digits

in the PIN differ by at least 2. How many

maximum attempts does one need to
find out the PIN with certainty?

(b) being in the habit of thinking about
presents

(¢c) not being thrilled by new things

(@ 6
(d) giving and receiving joy only
partially
(b) 8
54. Let A, B and C represent distinct non- {c)™~10
zero digits. Suppose x is the sum of
all possible 3-digit numbers formed by
A, B and C without repetition. (d) 12
Consider the following stater{@
1. The 4-digit least va)@of x is 1332, 56. There are eight equidistant points on
a circlee. How many right-angled
2. "The 3-d19t§@cst value) of x triangles can be drawn using these
is 888. points as vertices and taking the

diameter as one side of the triangle?
Which of the above, statements is/are

correct?
(a) 24
(@) 1 only
(b) 16
(b) 2 only
(c) Both 1 and 2 i
(d) Neither 1 nor 2 (d) 8
VGYH-D-CST/46A 33 [ P.T.0,
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57. 24 &9 3 12 wfeand w Fm H 30 A # 59. 20 cm @Ef 3R 8 cm =N HFAFR TR F

T F HEd &1 12 89 3R 24 Higemd 34 an # ffafas A w faem it
bl il 1. 38 =9I AH-dF 4 TER Tl A
AT gEvE B
(@) 30T 2. T W H TAHA A% 9™ 10
FrgemeR el # Fre wE R
sl e el A A/ 2/
(@) Faa 1
(c) 30 @A fam = 30 | e a0
(b) FEE2
fe) 1 3R 2 3

(d) F1 Fremd feen F o sl srai 8
(@ Fd13Ra#2

Q
\\Q
58. 91x92x93x94 x95%x9 x 98 x99 : ;
60. V& UH UEA x F 70% UH I @& y H
ﬁmelﬁﬂm%ﬂm@wﬁm?
Q SIe1 a1 8, @ IR 90 y F WA F 165%
@ B ST B | 9 HET x F 60% TH I GEAl
@ 3 zﬁ@i\am%,?hm!ﬂnz#mm
a
165% & sl 8| Fr=fofas & @ #F-w &
wH R?
(b) 2
(@ z<x<y
© 1 (b) x<y<z
() y<x<z
(d O (d z<y<x
VGYH-D-CST/46A 34
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57. 24 men and 12 women can do a piece of
work in 30 days. In how many days can
12 men and 24 women do the same
piece of work?

(a) 30 days
(b) More than 30 days

(c) Less than 30 days or more than
30 days

(d)

Data is inadequate to draw any
conclusion

&

58. What is the remainder w@)

91x92x93x 94)(95&&3(97)(98)(99

N\

is divided by 12893
(@ 3
(b) 2
() 1

(d 0

VGYH-D-CST/46A
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59. Consider the following statements in
respect of a rectangular sheet of length
20 cm and breadth 8 cm :

1. It is possible to cut the sheet
exactly into 4 square sheets.

2. It is possible to cut the sheet into
10 triangular sheets of equal area.

Which of the above statements is/are
correct?

(@) 1 only

(b)~ 2 only

(c/) Both 1 and 2

(d) Neither 1 nor 2

60. When 70% of a number x is added to

another number y, the sum becomes
165% of the value of y. When 60% of
the number x is added to another
number z, then the sum becomes 165%
of the value of z. Which one of the
following is correct?

(@) 2<x<y
(b) x<y<z
fc) y<x<z

(@)

zZ<y<x
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Praferfae 3 (=) wyaiwit & forg fdw -

Brfefad & aRedet F1 TR o 3% IR om TR
eI % IR AT 3w % e snes IW Fad
% TR W@ i B =R

ufedz—1

i wm, S e sedt & fog waiw e dfea
FA N oEPA A B, W A W g f W A
I | wfE @ 9 ) 3 o o gen W owm
FAER-TE 3R T Rt W SR wa §)1 T g
T T wh A ¥ W R % o, e % of =
w3 F g, A f 3R T B WR D, W TG
R e B 9@ a9 fed fofa w aged wwg dnt A
@ ¥ avfea B &, @ ag el oft 3usEw | wea €
kel

61. 34 Ti=de ¥ Frferfaa & ¥ 0 Iuwfda 27
(@) e @ e _Grmﬁ % fog

dfua 78 Q|

(b) s @M S @Q% feg o
dfea 0 3

(c) & &mfR awﬁ%%um
mm% T T2

(d) © Eiea H 6 e w7 e

62. 34 TR 1 e foER wn R7

(@ @il H @l R @ A galaa T A
feq |

(b) @il F AgEeE AfEfE wm dfE
AT =R |

(¢) @rii ® T A W AR, T & R
=1feT|

(d) @m R oft SR § \Ra @ ST, 3R
3 =18 off T fawga 7 9
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ufede—2

‘T el U ufed AfUmR R oS I
ARl 1 auR ) qufl, I8 iR vl @ @
I, o TEfg gEel Rufdl W oamuRa @
wifee)”’

63. I Ti=de 1 w=Y wa gu Prefatad e
# § e-|1/ v /R

|, Rt e ¥ s % we g

2. T % AEE F Fa@ o s
W AL R, T, T IS Sgaw |

#9 R 7y 52 w1 wEm W wd I gt
(a) Fad 1

(b) a2

c) 1323

(@ Jd1IARAR2

64. 3 Ifigarl, X 3 v, 3 w fatem § wm
form 80% @il 3 Haew fan v #§ 313w
wa 7€l g3N| NOTA (3T # & #i ) H
fpeq 7€ 911 FAeH A U FA "al F 56%
7 X # fren 3 98 1440 wal | sfa ™0
e gt ¥ Haemaie 6 g Fref e j7

(@ 15000
(b) 12000
(c) 9600

(d 5000
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on
the passages only.

Passage—1

The majority of people who fail to accumulate
money sufficient for their needs, are generally,
easily influenced by the opinions of others.
They permit the newspapers and the gossiping
neighbours to do their thinking for them.
Opinions are the cheapest commodities on the
earth. Everyone has a flock of opinions ready
to be wished upon by anyone who will accept
them. If you are influenced by opinions when
you reach decisions, you will not succeed in
any undertaking.

61. Which one of the following is implied by
the passage?

(a) Most of the people § not
accumulate money for needs.
(b) Most of the peo ver fail to
accumulate mon their needs:
{c) There are e who) fail to
accumulat ney for their needs.
(d) There is no need to accumulate

money.

62. What is the main‘idea of the passage?

(@) People should not be influenced by

the opinions of others.

(b)

People should accumulate as much
money as they can.

(c)

People should neither give nor
accept the opinions.

People will succeed in any
undertaking if they do not accept
any opinion at all.

(d)
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Passage—2

“The social order is a sacred right which is the
basis of all other rights. Nevertheless, this right
does not come from nature, and must therefore
be founded on conventions.”

63. With reference to the above passage,
which of the following statements is/are
correct?

1. Conventions 'are the sources of
rights of man.

2. Rights of man can be exercised only
when there is a social order.

Select the correct answer using the code
given below.

{a) 1 only
(b)

() Both 1 and 2

2 only

(d) Neither 1 nor 2

64. Two candidates X and Y contested an
election. 80% of voters cast their vote
and there were no invalid votes. There
was no NOTA (None of the above) option.
X got 56% of the votes cast and won
by 1440 votes. What is the total number
of voters in the voters list?

(@) 15000
(b)

(c)

12000
9600

(d) " 5000
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65. 1000 ¥ 91 9% WgTH W& HH-H ¥ M@ 68. fr=fafaa oAl w fomm Hifsm

6, 9, 12, 15, 18 # & ffl % @ +f 1. UG 3:16 T I IWE 3:17 T F
o =, @ Awa 3 F=7 #i9 g A R A g v e B gl
(@ 1063 % a1y e B
2. 3WE 4:58 9 3N W@ 4:59 T4 &
(b) 1073 w1 uE i fime i gg i dwve g
(c) 1083 o 91y et )
e IRyl @ FA-w1/3 wh /87
(@) Fad 1
66. TH ST p A 3 H wH T ¢ A g T (b) FaE 2
i H I F W foa@ ¥ =0 dew B AR (c) 1323
§?xq=2430,?hp3ﬂtq%iiﬂﬁﬁﬂwiﬂ! d A 13ad2
(@ 45 69. X3 YAy E XH 100ml gy & 3R vH
100 m1 9t &1 X # @ 20 ml ¥ FweR v
@) 27 Hgren 9 2| R =8 we e, v
© 18 20 ml fago Frerem am@ x & frewn s
Q R 3Rk x # gg F aguE m ¥ Afde dm R
(d) 9 \\Q ARy # vt 1 IguE o @ e @, @
D freferfaa # & B-w o wd 27
67. T YA TEAS p IR g HER H, S 3H TFR (@ m=n
%ﬁpamaaﬂt@@mtﬁﬁ%ﬁﬂa () m>n
F R PR el
1. pxgqfam den dawd 2 (d) vam HAiwel % wRo Fuifa 7@
2. q/p AV GEA B g R 1 Fehdl

. I © !
T b pa i LS Y 70. % g Rl eeh ot B 7 4, B, G,

I Forl A DAY 7E E? D R E W g3 =44 sl 81 3R B, C, D
3R E 99 90°, 50°, 45° A4l 75° % WM
(@) F@ 1 3R 2 #, @ e A W =43 % wiiw e 27
(b) Fad 2 AN 3 (@) % ) %5
(c) Faw 133 ' . i
@ 1,233 : &5 @
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65. What is the smallest number greater

than 1000 that when divided by any one
of the numbers 6, 9, 12, 15, 18 leaves
a remainder of 3?

(@) 1063
(b) 1073
(c) 1083
(d) 1183

66. Let p be a two-digit number and g be

the number consisting of same digits
written in reverse order. If p xq=2430,
then what is the difference between
p and g?

(a) 45

(b) 27

(c) 18

@ 9 N

N

Consider the followin tements in

respect of two natu mbers piand g

such that p is a e number and g is

a composite number :
1. pxgq can be an edd number.
2. q/p can be a prime number.

3. p+gq can be a prime number.

Which of the above statements are
correct?

faq) 1 and 2 only
(b) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

VGYH-D-CST/46A

68. Consider the following statements :

1. Between 3:16 p.m. and 3:17 p.m.,
both hour hand and minute hand
coincide.

2. Between 4:58 p.m. and 4:59 p.m.,
both minute hand and second
hand coincide.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only

(c) Both 1 and.2
(d) Neither 1 nor 2

69. There/ are ‘two containers X and Y.

X ~contains 100 ml of milkk and
Y contains 100 ml of water. 20 ml of
milk from X is transferred to Y. After
mixing well, 20 ml of the mixture in Y is
transferred back to X. If m denotes the
proportion of milk in X and n denotes
the proportion of water in Y, then which
one of the following is correct?

(@} m=n
(b) m>n
fc) m<n

(d) Cannot be determined due to
insufficient data

70. A pie chart gives the expenditure on five

different items A, B, C, D and E in
a household. If B, C, D and E correspond
to 90°, 50°, 45° and 75° respectively,
then what is the percentage of
expenditure on item A?

112 125
(a) ? (b) T
155 250
(c) —9'— (d) T
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Fraferiaa 3 (diw) woaiwn & ferg Fdw -

PR o aRE i o R e R
AT % I SIeIT | 39 e & foie 319 I Fad
T uf=ael | & snuria B =)

yfedg—1

FEYH H WeaTiead we e fafrmem % w1 8 9
wF ¥ anEea RefreEl 3 sgEum W St
o ®, 7 %aw 37 AmE § TR SAgEUE e R,
gfcw wft R F Ol e fawgt # oft) e
HFEuH gvaa: w4t oft g o Teda T @) 3
e +ff qdargl 3R wewdR o, SgEuEEAl H
7 foan oft 7ife oiv srehfes &, w& Yo dve wm
# e ® T vl % svs ¥ fow e oform wee
% ¥, S NOMEH TR AEdl SgEuEaist g1 A
fore Ty aedi 1 fFdt Ay TR % ER F
w9 3 v w0 w | T, el e AR T A,
Iir b foemm qmfE = e | FH.F €
% %, o v e A R R
e 8, @ I8 v R T HE. s o
X TE W) N

71. SNIE FFEEH F TR A T@® H gEERon T8
T

(@) F& %A A qga qegaw TE g

(b) T& FH-FH aga qegaW B #

() & ®ft ff F5-7-39 79 & foom

el

(d) I% T € 9ga qoAaH Bl ¢
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72. TEH F IFER
(@) Tt ygg saw & forg aga @ sgaam
giom wEe % T @ g

(b) Tt vg@ o= ¥ forq i€ ot srgeim
SRoTm g € He & el @

(c) et ygg saws & fom #15 oft srgEem
TR HE™ B hdl ¢

(@) e yg 3w & forg 18 off srgaym
RO B € FS Hew™ @1 Bl 91y

ufess—2

g o @ 6 wHened 1 ged o= anYH
o st wewa @ o6 3FaW F9-8-30 B IR 9 w=ien
TS 59 TET A G wewyy fawg, o woam e
1 =fee, 9% 7@ ® 6 wma # 120 RA (@ @
@R o) & SNF Tt (e aul # 75%)
W W B g, 3R 9w 245 A % dm oremew’ sw
W B ¥ | Sei-3qcreuat 1 39 faum Rl 9 @ @@
vaft iR fafafa e s 2, @ =d o s@ w
IO R

73. F=fafaa § @ F9-w1 @ e, e
3R fowrs gmyE ) Haw ®9 9 viafafE -
87
(@ R W whe H e swerm-fEat

3R &l = Fwfor s

(b) FEA WA F @WEG AR FU g A
FEATd A

() R W ARA H 39w | SeT

(d) =Ml AR SRl F SR si@ FogdEa
WUSR (FH) T@AI
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow the passages. Your
answers to these items should be based on

the passages only.

Passage—1

To encourage research is one of the functions
of a university. Contemporary universities have
encouraged research, not only in those cases
where research is necessary, but on all sorts
of entirely unprofitable subjects as well
Scientific research is probably never completely
valueless. However silly and insignificant it may
seem, however mechanical and unintelligent
the labours of the researchers, there is always
a chance that the results may be of value to
the investigator of talent, who can use

the facts
g\ ous

collected for him by uninspired but in:

researchers as the basis of fruitful
generalization. But where re h is( net
original, but consists the/ »mere

rearrangement of existing@terials, where its
object is not scientific but literary.or historical,
then there is a risk of the whole business
becoming merely futile.

71. The author’s assumption about scientific
research is that

(@)
(b)
(c)
(d)

it is never very valuable
it is sometimes very valuable
it is never without some value

it is always very valuable
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41

72. According to the author

(a) not many research results can be of
value to an intelligent investigator

(b)

a research result is always valuable
to an intelligent investigator

(c)

any research result can be of value
to an intelligent investigator

(d) a research result must always be
of some value (o, an intelligent

investigator

Passage—2

How best can.the_ problems of floods and
droughts be. addressed so that the losses are
minimal\and the system becomes resilient?
In this context, one important point that needs
to be noted is that India gets ‘too much’ water
(about 75% of annual’ precipitation) during
120 days (June to September) and ‘too little’ for
the remaining 245 days. This skewed water
availability has to be managed and regulated
for its consumption throughout the year.

73. Which one of the following best reflects
the practical,
solution?

(@)

rational and lasting

Constructing huge concrete storage
tanks the
country

and canals across

(b) Changing the cropping patterns

and farming practices

(c)

Interlinking of rivers across the
country

(d)

Buffer stocking of water through
dams and recharging aquifers
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74, afe

15x14x13x--x3x2%x1=3™ xn
W&l m 3R n YA QU €, A m H HEH
A 1 87
(@ 7
(b) 6
fe) 3
[@ 4

75. AFH 2, 12, 36, 80, 150, X ¥ X &

w1 87

(a) 248
(b) 252
c) 258
(@ 262

76. TF YA 3H, SH FoiHen | T W OIAR

T e (Ffved #) qEag LGRS
g Ty o 8 o & awed & & 3
=9 W §9H B W AT S
Hhd 7 \QQ"

(@) 105 $Q

m) 525

(c) 945

(d) 1050

77, Tl A9 W O WS 39 e TR W@ € &

I dferal @i wiemt i gen guE )
A 6 Wl A Hh AR 3 I F 99 B TR
fopet whR @ 38 & @1 W1 a1 & R ad
ufeh # FH-B-59 TF FHI6 F A A7

(@) 18

(b) 27

(c) 54

(d 81
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78. i FATT QUIEH F AN IH AR & SR

A, Ui et Graand @ wdt 87
(a) e TF
(b) FEAA
(c) Faa dH

(d) U H§ EraAr e #

79. 0.-XY &1 & fohat g&gd 8, sf x 3R v

firg 33 o= #7
(@) 72
(b) 81
(c) 90

(d) 100

80. A, B, C %I 3Wd ¥R 40 kg ®; B, D, E®

3fIHd IR 42 kg ® 3R F#1 WX BH WR &
T B1 A, B, C, D, E 3R F &1 3¥d R
w87

(@) 405 kg

(b) 408 kg

(c) 41 kg

(@ Tuifa 78 e s awa wife e
Fyaty &
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74. If 78. The sum of three consecutive integers is

18R 1A X A3 X A% 2% =3™ xn cqua‘l to -thelr product. How many such
possibilities are there?

where m and n are positive integers,

then what is the maximum value of m? (a) Only one
(a) 7
(b) 6 (b) Only two
) S
@ 4 (c) Only three
75. What is the value of X in the sequence (d) No such possibility.is there
2, 12, 36, 80, 150, X?
(a) 248
(b) 252 79. What is the mumber of numbers of the
form 0- XY, where X and Y are distinct
(c) 258 X
non-zero digits?
(d) 262
76. One non-zero digit, one vowel and one (@), 72
consonant from English alphabet (in
capital) are to be used in forming (b) 81
passwords, such that each password
has to start with a vowel end (c) 90
with a consonant. How y such
passwords can be gener: (@ 100
(@ 105 N
(b) 525 @
(c) 945 80. The average weight of A, B, Cis 40 kg,
(d) 1050 the average weight of B, D, E is 42 kg
and the weight of F is equal to that of B.
77. There are 9 cups’ placed on a table What is the average weight of A, B, C,
arranged in equal mumber of rows and D, E and F?
columns out of which 6 cups contain
coffee and 3 cups contain tea. In how (a) 405 kg

many ways can they be arranged so
that each row should contain at least

one cup of coffee? L i
(@ 18 (c) 41 kg
(b) 27
(e) 54 (d) Cannot be determined as data is
(d) 81 inadequate
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